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Exercice 1.1

Ecrire sous la forme d’une fraction irréductible :
	A = EQ \s\do1(\f(8;12))
	B = EQ \s\do1(\f(1;3)) + EQ \s\do1(\f(1;2))
	C = EQ \s\do1(\f(2;3)) + EQ \s\do1(\f(5;6))

	D = EQ \s\do1(\f(2;5)) – 1
	E = EQ \s\do1(\f(5;4)) – EQ \s\do1(\f(7;6))
	F = EQ \s\do1(\f(1;15)) + EQ \s\do1(\f(1;3)) – EQ \s\do1(\f(3;20))


Exercice 1.2


Ecrire sous la forme d’une fraction, la plus simple possible :

	A = EQ \s\do1(\f(1;a)) + EQ \s\do1(\f(1;b))
	B = EQ \s\do1(\f(3;2a)) + EQ \s\do1(\f(5;b))
	C = EQ \s\do1(\f(3;2a)) – EQ \s\do1(\f(1;ab))

	D = EQ \s\do1(\f(1;2a)) + EQ \s\do1(\f(1;6a)) + EQ \s\do1(\f(1;15a))
	E = EQ \s\do1(\f(1;a)) + EQ \s\do1(\f(1;a²)) + EQ \s\do1(\f(1;a3))
	F = EQ \s\do1(\f(2;ab)) + EQ \s\do1(\f(3;a²)) + EQ \s\do1(\f(4;b²))


Exercice 1.3

Ecrire sous la forme d’une fraction irréductible :

	A = EQ \s\do1(\f(4;3)) × EQ \s\do1(\f(7;5))
	B = EQ \s\do1(\f(2;5)) × EQ \s\do1(\f(5;9))
	C = EQ \s\do1(\f(7;8)) × EQ \s\do1(\f(6;5))

	D = EQ \s\do1(\f(-2;5)) × EQ \s\do1(\f(3;-7)) × EQ \s\do1(\f(-7;2))
	E = 7 × EQ \s\do1(\f(1;11)) × EQ \s\do1(\f(3;14))
	F = EQ \s\do1(\f(6;35)) × EQ \s\do1(\f(14;3)) × EQ \s\do1(\f(1;2))
	G = EQ \s\do1(\f(51;26)) × EQ \s\do1(\f(49;15)) × EQ \s\do1(\f(65;119))

	H = EQ \s\do1(\f(23;52)) × EQ \s\do1(\f(35;27)) × EQ \s\do1(\f(53;33))
	I = EQ \s\do1(\f(144 × 63;184 × 49))
	J = EQ \s\do1(\f(553 × 262;653 × 442))


Exercice 1.4

Ecrire sous la forme d’une fraction irréductible :

	A = EQ \s\do1(\f(2;3)) ÷ EQ \s\do1(\f(5;7))
	B = EQ \s\do1(\f(1;3)) ÷ 5
	C = -4 ÷ EQ \s\do1(\f(-2;13))

	D = s\do1(\f(2;3))EQ \s\do1(\f(;EQ \s\do1(\f(5;3))))

	E = s\do1(\f(7;2))EQ \s\do1(\f(3;))

	F = - s\do1(\f(-12;49))EQ \s\do1(\f(;EQ \s\do1(\f(-3;-35))))



Exercice 1.5

Ecrire sous la forme d’une fraction, la plus simple possible :
	A = EQ \s\do1(\f(b2;a5)) × EQ \s\do1(\f(a7;b3))
	B = EQ \s\do1(\f(b2;a5)) ÷ EQ \s\do1(\f(a7;b3))
	C  = EQ \s\do1(\f(a3;b2)) × EQ \s\do1(\f(3a2;b)) × EQ \s\do1(\f(b7;2a4))


Exercice 1.6

Ecrire sous la forme d’une fraction irréductible :

	A = EQ \s\do1(\f(2;3)) – EQ \s\do1(\f(4;3)) × EQ \s\do1(\f(2;5))
	B = 1 + s\do1(\f(1;2))EQ \s\do1(\f(1;))

	C = EQ \s\do1(\f(7;3)) s\do1(\f(11;4))EQ \b\bc\((\a\ac(2 – ))

	D =  EQ \s\do1(\f(1 +  ; 1 +  EQ \s\do1(\f(1;3))))


	E = EQ \s\do1(\f(-3;5)) × s\do1(\f(-6;13))EQ \s\do1(\f(5;))

	F = s\do1(\f(2;3))EQ \s\do1(\f(4; – EQ \s\do1(\f(5;6))))

	G = EQ \s\do1(\f(5;7)) + s\do1(\f(3;2))EQ \b\bc\((\a\ac( ) )

EQ \s\up12(2)

	H = 2)) EQ \s\do1(\f( +  EQ \s\do1(\f(1;5));  EQ \s\do1(\f(1;3)) –  EQ \s\do1(\f(1;4))))

	I = s\do1(\f(7;-6))EQ \s\do1(\f( × EQ \s\do1(\f(3;-10));EQ \s\do1(\f(-14;5)) × EQ \s\do1(\f(1;-5))))














































































































































































































































































































































































































































































































































